function [X Y,grid_pt,bound_pt]=line_grid(nunctell X, nuncel |Y, mapst ore)
boundaryX =[ -2, 2];
boundaryY =[-1, 1];

len = | engt h(mapstore);
grid_pt = cell(2,16);
idx = 1;

num di v = max(nuncel | X, nuntel 1Y) ;
for i=1:len
for j=1:4
now = j;
next = j+1;
if(j+1 >4)
next =1,
end
%88cal cul ate the line points
i f (mapstore{i}(now, 1) ==mapstore{i}(next, 1))
x_pt = mapstore{i}(now, 1)*ones(1, numdiv);
y_pt = linspace(mapstore{i}(now, 2), mapstore{i}
(next, 2), numdiv);
el sei f (mapstore{i}(now, 2) ==mapst ore{i}(next, 2))
y_pt = mapstore{i}(now, 2)*ones(1, numdiv);

x_pt = linspace(mapstore{i}(now, 1), mapstore{i}
(next, 1), numdiv);
el se
x_pt = linspace(mapstore{i}(now, 1), mapstore{i}
(next, 1), numdiv);
y_pt = linspace(mapstore{i}(now, 2), mapstore{i}
(next, 2), numdiv);
end

grid_pt{1,idx}=x_pt;

grid_pt{2,idx}=y_pt;
idx = idx + 1;

end
end
%@rid points
grid_x = linspace(boundaryX(1), boundaryX(2), nuncel | X+1);
grid_y = linspace(boundaryY(1), boundaryY(2), nuntel | Y+1);

[X,Y] = meshgrid(grid x,grid_y);
%46 ind the index of the grid
X rol =X(1,:);
Y _col =Y(:,1)";
bound_pt =zer os(nuntel | Y, nuntel | X);
numb = length(grid _pt);
for k=1:numb
for j=1:numdiv
for i=1:nuncell X
if(ogrid_pt{1,k}(j) >= Xrol(i) & grid_pt{1,k}(j) <=
X rol (i+1))
idx_Xx = i;
end
end
for i=1:nuncellY




if(grid_pt{2,k}(j) >= Y_col (i) & grid_pt{2,k}(j) <=
Y_col (i +1))
idx.y =1i;
end
end
bound_pt (i dx_y,idx_x) = bound_pt (idx_y,idx_x)+1;
end
end

for i=1:nunctell X*nunctel |l Y
i f(bound_pt (i) >0)
bound_pt (i) = 1;
end
end
bound_pt = flip(bound_pt, 1);
end

Not enough i nput argunents.

Error in line_grid (line 4)
I en = | engt h(napstore);
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